LAY b x—m+3 =09 F 2] A7t3 A uf, m o gL

@ 5 @ 3 ®1 @ -1 ® -5



e F [ 1947 R B4 st H R

D x?-2x+1=012] @ -x*+4x+4=07[1]
® x2-4=0]3 @ x2—6x+9=0[

® x2-x-20=0 [



3. <a b>=(a-b? LM, <2x, -1>-<x, 2> 5 U5E5lotH?

O Bx+2)(x+2) @ (Bx-1)(x+3)
® 2(3x-1)(x-3) @ 3(2x-2)(x+1)
® —-(Bx-1)(x-3)



4. o= T o7 SA AR A7

@® 3x2+6x+1=0—>x:_3iﬁ\/6

@ 2(x+5)2=7T-x=-5+T7

® (x-72=-8—-x=T7+ V-8
3+ V7

@ 2x2-6x+1=0->x=

® 3(x+1) =5-5x=-1

H

w‘ﬁw
ot



_—

L xo}

o] =o]7} (70 + 25¢ — 5¢2)m =}
9] =o|7} 40m 7+ 2 =f

T oy fou ofy



72, A2 o] Zol7} z+z 20m, 15m <l F
meFel ol thg 1t Zol T2
wr=d 1 sk s o] Yol st 126 m2 o]

52 ), 520 Bg Fo)

H1

D 3m @ 4m ® 5m
@ 6m ® Tm

_--20m-_



